
1)
30  Find Volume of 
         28               Triangular Pyramid 

29 28
24

Answer: ____________

2) Increase 294 by 1/98

Answer: ____________

3) A number was shared in the ratio 
42:21. The larger share was 10. What 
was the smaller amount?

Answer: ____________

4) A number is chosen at random from 1 
to 50. Find the probability of selecting 
factors of 13.

Answer: ____________

5) $421.00 earning 4% compound 
interest for 10 years.

Answer: ____________

6) 804 - 773

Answer: ____________

7) Find perimeter of 
square having each side 
(s) equals 106 in

Answer: ____________

8) 67/10 x 1711/20

Answer: ____________

9)
30  Find Volume of 
                         Square Pyramid 

24
24

Answer: ____________

10) 33 x 10

Answer: ____________

11) 13/6 ÷ 158/9

Answer: ____________

12) Increase 75 by 22%

Answer: ____________

13) 418 * 4-10

Answer: ____________

14) Solve by factorising 
f2 + 8f + 15 = 0

Answer: ____________

15) 24 x 10

Answer: ____________
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16) (-84) ÷ 21

Answer: ____________

17) An amount was decreased by 1.1% to 
$401.00. Find the original amount.

Answer: ____________

18) 3 x 10

Answer: ____________

19) 3 x 10

Answer: ____________

20) 3 x 10

Answer: ____________

21) Find perimeter of 
rectangle having 
sides a = 707 cm 
and b = 584 cm

Answer: ____________

22) 887 - (-828)

Answer: ____________

23) 179/17 x 1315/16

Answer: ____________

24) 2   11/19 - 2   11/12

Answer: ____________

25) Write 0.0031 in standard form.

Answer: ____________

26) 1/8 x 2/13

Answer: ____________

27) A number was shared in the ratio 
10:6. The smaller share was 51. 
What was the larger amount?

Answer: ____________

28) Share 58 in the ratio 13:45

Answer: ____________

29) (1 x 11) x (5 x 43)

Answer: ____________

30) Find perimeter of 
square having each 
side (s) equals 861 cm

Answer: ____________
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Total: ___ / 30
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Answers:

1) 3480 2) 297 3) 5 4) 0/1 5) $623.18 6) 31 7) 424in

8) 117117/200 9) 5760 10) 330 11) 27/286 12) 91.5 13) 48 14) f = -3 or -5

15) 240 16) -4 17) $396.59 18) 30 19) 30 20) 30 21) 2582cm

22) 1715 23) 24443/136 24) 77/228 25) 3.1 x 10-3 26) 1/52 27) 85 28) 1 : 57

29) 320 30) 3444cm
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